‘4# Multiplication within 100 Name:

Solve each problem. Answers
1) Kaleb bought nine boxes of candy with each box having four piecesinside of it. How
many pieces of candy did he have total? 1
2,

2) A delivery driver had to make seven more stops on his route. At each stop he had to drop
off nine boxes. How many boxes does he have?

3) Dave was collecting cans for recycling. For every bag he collected he earned four dollars. || 4.
If he had collected four bags, how much money would he have earned?

5.
4) Onher MP3 player, Vanessa had four different singers with eight songs from each singer.
How many songs did Vanessa have total ? 6.
7.
5) For Halloween four friends were dressing as pirates. |f each costume cost five dollars, how
much did they spend?
8.

6) A bouquet hassix rosesin it. If aflorist had four bouquets, how many roses did they have || o.

total ?
10.
7) Tom was packing up his old toys. He managed to sgqueeze seven toys into abox. If Tom
filled up two boxes, how many toys did he pack total ? 11.
12.

8) Amy was practicing drawing pictures. Each day she drew for five hours. How many hours
would she have practiced after five days?

9) Oliviawas buying soap for her bathroom. She bought two packs with each pack having
nine bars. How many bars of soap did she buy?

10) At aschool fundraiser a student sold six boxes of candy with each box having three pieces
inside of it. How many pieces of candy did he sell total?

11) A contractor was buying wall outlets for a new house he was building. Each room needed
eight outlets. If the house has six rooms, how many outlets does he need total ?

12) Henry's mother had six photo albums with five picturesin each album. How many pictures
did his mother have total ?
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ﬂh Multiplication within 100 Name.Answer Key
Solve each problem. Answers

1) Kaleb bought nine boxes of candy with each box having four piecesinside of it. How
many pieces of candy did he have total? 1. 36

Equal Groups - (Unknown Product)

2 63
2) A delivery driver had to make seven more stops on his route. At each stop he had to drop
off nine boxes. How many boxes does he have? 16

Equal Groups - (Unknown Product)

3) Dave was collecting cans for recycling. For every bag he collected he earned four dollars. || 4. 32
If he had collected four bags, how much money would he have earned?
Equal Groups - (Unknown Product) 5 20

4) Onher MP3 player, Vanessa had four different singers with eight songs from each singer.
How many songs did Vanessa have total ? 6. 24

Equal Groups - (Unknown Product)

7. 14

5) For Halloween four friends were dressing as pirates. |f each costume cost five dollars, how
much did they spend? 25

Equal Groups - (Unknown Product)

6) A bouquet has six rosesinit. If aflorist had four bouquets, how many roses did they have | o. 18
total ?
Equal Groups - (Unknown Product) 10. 18

7) Tom was packing up his old toys. He managed to sgqueeze seven toys into abox. If Tom
filled up two boxes, how many toys did he pack total ? 11. 48

Equal Groups - (Unknown Product)

12 30

8) Amy was practicing drawing pictures. Each day she drew for five hours. How many hours
would she have practiced after five days?

Equal Groups - (Unknown Product)

9) Oliviawas buying soap for her bathroom. She bought two packs with each pack having
nine bars. How many bars of soap did she buy?

Equa Groups - (Unknown Product)

10) At aschool fundraiser a student sold six boxes of candy with each box having three pieces
inside of it. How many pieces of candy did he sell total?

Equal Groups - (Unknown Product)

11) A contractor was buying wall outlets for a new house he was building. Each room needed
eight outlets. If the house has six rooms, how many outlets does he need total ?

Equal Groups - (Unknown Product)

12) Henry's mother had six photo albums with five picturesin each album. How many pictures
did his mother have total ?

Equal Groups - (Unknown Product)
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‘4# Multiplication within 100 Name:

Solve each problem. Answers
16 20 32 25 36
18 18 14 63 24 1.
1) Kaleb bought 9 boxes of candy with each box having 4 piecesinside of it. How many )
pieces of candy did he have total? '
3.
2) A delivery driver had to make 7 more stops on his route. At each stop he had to drop off 9
boxes. How many boxes does he have? 4.
5.
3) Dave was collecting cans for recycling. For every bag he collected he earned 4 dollars. If
he had collected 4 bags, how much money would he have earned? 6.
7.
4) On her MP3 player, Vanessa had 4 different singers with 8 songs from each singer. How
many songs did Vanessa have total ? 8
9.
5) For Halloween 4 friends were dressing as pirates. If each costume cost 5 dollars, how much
did they spend? 0

6) A bouquet has6 rosesinit. If aflorist had 4 bouquets, how many roses did they have total?

7) Tom was packing up his old toys. He managed to squeeze 7 toysinto abox. If Tom filled
up 2 boxes, how many toys did he pack total?

8) Amy was practicing drawing pictures. Each day she drew for 5 hours. How many hours
would she have practiced after 5 days?

9) Oliviawas buying soap for her bathroom. She bought 2 packs with each pack having 9
bars. How many bars of soap did she buy?

10) At aschool fundraiser a student sold 6 boxes of candy with each box having 3 piecesinside
of it. How many pieces of candy did he sell total ?
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